## Canonicación division. Advice for giving credit to contractors/mpgliers.

EL No che billo		49	Date	- site billi	22/	2/23
CERTAIN MINE	= MV	2mllp	Sála:		GME	
Name of Contract	Marie Committee of the	A CONTRACTOR OF THE PARTY OF TH	Varma	λ		
Manage of week		De la	rk-p		ing-fb	lock cello
2 day 4 2003	X .	Date	1/2/2	1	Date 15/	123
No. VEGALIA		Jays-	Rain	Unite	Associat	Casakraskers bill so
1. F block		4640	16	5++	74,240	
2 Behn		1088	16	sft	17,408	
	my wall	864	16	Sft	13,824	
4. Brick	work !	756	13	1ft)	9828	-
5. Hack	ing	6592	0.50	SEF	3296	
7.						
8.						
9.						
10.						
IL	Tetak				118596	
Margini.	(SYE	SIND	GOT	on receive	of DAME	DMO
Management & enterior dant:		gained Required		energial de la characteria del la characteria del la characteria del la characteria de la characteria de la characteria del l	W	esed reclased
PO/WO 20.			FOR	70 data		
Romann: A	11 was	ks do	ne.			
	mesticanismo e retardos de Adela.				•	
			•			
Agguered by Profit	d Margar	Approx	ed by Deal	ge Team	Approved 9	yMD
		and a second discount of the second second			Dukk	
Duis:	2	Date:			APRICADA	

Notice 1. This calibra must be east which, 7 days of completing quals. 2. This days can be used the entirely stores was, or the like degree, and touch, teaching stole consection. 3. Viscourus and applicable — 68 MA. 4. Reference and monotonical con unit required for monitor plans characteristics or or of early given.

ESTIMATE SHEET	SHEET						
Company Name:	me:	MRMallapur LLP	-			Approved by: Ramprasad	Ramprasad
Project:		Gulmohar Residency				Sign:	
Work Description:	ction:	Civil work- Plastering					
Contractor Name:	ame:	Kamlesh Varma					
Prepared By		D. Nagendar					
Date:		23.01.2023					
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Total
	F block cellar plastering part	Cellar ceiling plastering	4640.00 Sft	Sft	16.00	74,240	
		Beams	1088.00 Sft	Sft	16.00	17,408	
		Retaining wall	864.00 Sft	Sft	16.00	13,824	
2	Brickwork	Brick work	756	Sft	13.00	9,828	
	Hacking	ceiling	6592	Sft	0.50	3,296	
	0					1,18,596	
	Inwords	One lakh eighteen thousand five hundred ninty six rupees only	dred ninty six ruj	sees only			

MEASUR	MEASUREMENT SHEET								
Company Name:	Name:	MRMallapur LLP			Approved by:		Ramprasad		
Project:		Gulmohar Residency			Sign:				
Work Des	Work Description:	Civil work- Plastering							
Contractor Name:	or Name:	Kamlesh Varma							
Prepared By	Ву	D. Nagendar							
Date:		23.01.2023							
			A	В	С	D	E = AxBxCxD	*	G=Sum of E
SNO	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units	Item Head Total
-	F block cellar plastering part	Cellar ceiling plastering	145.00	32.00	1.00	1.00	4640.00	Sft	
,	, V	Beams	32.00	1.00	2.00	17.00	1088.00	Sft	
		Retaining wall	50.00	1.00	9.00	1.00	450.00	Sft	
		C	18.00	1.00	9.00	1.00	162.00	Sft	
			28.00	1.00	9.00	1.00	252.00	Sft	
							864.00	Sft	864.00
٥	Dialeurek	Brick work	63.00	1.00	12.00	1.00	756.00	Sft	
1	DIICAWOIN		.00	1.00	1.00	6592.00	6592.00	Sft	
w	Hacking	CCILIII							
								-	

#### **Allowance for Consumables**

Kamlesh Varma Mallapur Hyderabad

Date: 23.01.2023

In favor of:

MR Mallapur LLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Plastering

Towards:

Allowance for consumables

S No.	Description	Amount
1.	Brief description of work done: Towards F block cellar part ceiling plastering.  Total Amount = 118596/- Work done from date 01.12.2022 to 15.01.2023	Rs.23720/-

Amount in words: Twenty three thousand seven hundred twenty Rupees Only.

Sign: <u>Verrelle</u>

## **Bill for Labour Charges**

Kamlesh Varma Mallapur Hyderabad

Date: 23.01.2023

In favor of:

MR Mallapur LLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Plastering

Towards:

Allowance for labour charges.

	Description	Amount
S No.	Description	
1.	Brief description of work done: Towards F block	Rs.47,438/-
	cellar part ceiling plastering.	Ks.47,436/-
	Total Amount = 118596/-	
	Work done from date 01.12.2022 to 15.01.2023	

Amount in words: Fourty seven thousand four hundred thirty eight Rupees Only.

Sign: Xareh.

# Bill for Equipment Allowance

#### Kamlesh Varma Mallapur Hyderabad

Date: 23.01.2023

In favor of:

MR Mallapur LLP

Project / Site:

Gulmohar Residency

**Location: Type of Work:** 

Mallapur Plastering

**Towards:** 

Allowance for equipment.

S No.	Description	Amount
1.	Brief description of work done: Towards F block	
	cellar part ceiling plastering.	Rs.47,438/-
	Total Amount = 118596/-	
	Work done from date 01.12.2022 to 15.01.2023	

Amount in words: Fourty seven thousand four hundred thirty eight Rupees Only.

Sign: \_ &